Ch. 4 Test Review (Calculator Portion)

1. The graph of f consists of line segments and a semicircle, as shown: Let g(x) = f_J_CZ f(t)dt

c) Find g(6)

d) Findg'(4) - | e) Findg/(-2)

i} Find the x-.valuesrof all points of inflection of g.
Justify Answer

f) Find g”(5)

h) For what valuesofxisg decréasing? Justify Answer

j) Find the absolute extrema of g on the
interval [-4,6]




2. The graph of f consists of line segments. Let h(x) = féxf(t)dt

a) Find h(0) b) Find h(6) ¢} Find h(10)
d) Find h{11) e) Find K'(3) f)  Find h”(9.5)
g} For what values of x is h increasing? Justify Answer h) For what values of x is h’(x) decreasing?

i} Find the absolute extrerna of g oh the interval [0,11] I TR o e




3.

The table below shows the speed of a sprinter at the time intervals (in seconds) in the 200 meter race

time t 0 2 5 8 11 17 20
{seconds)
Velocity 5 6.5 7 8.5 9 8 7.5
V(t) (m/s)

20

a. Estimate jv(r)a’t

0

6 trapezoids

using the following methods

3 left-handed rectangles

b.

iii. 3 right-handed rectangles

3 middle rectangles

Find the average velocity on the interval [0, 20] using estimation from 6 trapezoids.




4. An object m>oving along a horizontal line has v(t) = 4sin(t® — 2t + 2) measured in meters per
second from [0,4] (hint: set windows to x-values [-1, 5] and y-values [-6, 6] )
*Round answers to 3 decimal places

a. Find the time(s) when the object is motionless

b. When does the object change directions in
O<t<4?

c. Find the velocity of the object at't = 3'seconds.

‘d. Find the acceleration of the object at t = 3 seconds.

e.. Is the object’s speed increasing or dé(:réésing at
t = 3 seconds? Justify answer. -

f.  Find the total displacement of the object from
t=0tot=4seconds (Show Integral Notation)

g. Find the total distance of the O_B’j‘efc't_ from
t=0to t =4 seconds (Show Integral . -
Notation)

' h. Find the time when the object reaches minimum

_velocity in [0, 3]

[ i.  Find the minimum velocity in [0, 3]

j.  Given x(0) = 2, Find x(4) . (Show integral
notation)

k. Find the average velocity in [0, 4]

I.  Find the time(s) when object reaches average velocity.



Ch. 4 Test Review (Calculator Portion) WS #’3

1. The graph of f consists of line segments and a semicircle, as shown: Let g(x) = f_zf(t)dt
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i)  Find the x-values of all points of inflection of g.
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For what values of x is g decreasing? Justlfy Answer
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Ch it Tost Review WS #3 (contimmed)
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2. The graph of f consists of line segments. Let h(x f f(dt X
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(o) = jmw g\?(ﬂ/@c h(é) jwu <Jo] k(w)._.g&’.%’(ﬂ m :

g = (“ 1‘,2*11’947 e

|
=-(s5) = 155 /OL[ -
d) Find h(11)L————~—"—‘””""’ e) Find h'(3) f) Find h”'(9.5)
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- Find the absolute extrema of g on the interval [0,11]
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The table below shows the speed of a sprinter at the time intervals (in seconds) in the 200 meter race
'
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time -}
6.5

{seconds)
Velocity
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3 left-handed rectanées f?:/ﬂ

Qe y(n)

(m/s) v(+)
20
using the following methods

a. Estimate J-V(t)dt
0
6 trapezoids A = *‘[_A, A :{
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Find the average velocity on the interval [0, 20] using estimation from 6 trapezoids
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4. An object moving along a horizontal line has v(t) =
(hint: set windows to x-values [-1, 5] and y-values [-6, 6] )

second from [0,4]
*Round answers to 3 decimal places

a. Find the tlme(s) when the (yaect is mo’uonless

IS

O J43 3.297 3.903 4
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Sécs /C I/('f) =0

4sin(t? — 2t + 2) measured in meters per

b. When does the object change directions in
0<t<4?
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c. Find the velocity of the object at t = 3 seconds.

V(B) = -3 %36 rn./\g{

d. Find the acceleration of the object at t = 3 seconds.

Ca&ud’a O S n‘}a\
V(3)= 4‘ 53 l m/

a(3)= lf. $37ms?

e. Isthe object’s speed increasing or decreasing at
t = 3 seconds? Justify answer.

Spea is f@-fﬂzz{ség . v(z)<o
; and a(3) o (‘Df’fl)?‘"{l S,j‘,\s)

f. Find the total displacement of the object from

t=0tot =4 seconds [3&:;») .ﬂ‘b K}‘t»f)
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g. Find the total distance of the object from

t=0tot=4seconds (shyw m’/'e Agwf‘u]o)
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h. Find the time when the object reaches minimum
vefocity in [0, 3]
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i.. Find the minimum V&fecd y in [0, 3]

j.  Given x(0) = 2, Find x(4) . (Show integral
notation) o

X(4) = x(0) + va:),,%

k. Find the average velocity in [0, 4]
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[.  Find the time(s) when object readfé’s average vélocity.

Set Gsin(¢221 +J> = 193¢
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